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PRI &8 Bl PhiE Ty | BF GoalTime
L4 50m B hEXFITE Y L3I PR 6% o) 1.00.45
3 50m B B BN tYRIIL PR T 1 05746
T 50m B8 SH<DH TV RIIL FIR (617 1 1.07.80
L4 50m B FIBCCA tYR3SIL PR T 2 05064
B 50m B I =5 Y 3L PR T 2 04723
3 50m B 1.7 N = tYRIIL PR T 1 0:48.21
L4 50m B BRIS 2 Y k3L PR 6% 1 05423
L4 50m B IR S5 Y R3SIL PR T 2 04433
Lo 50m B B ME Y R3S PR 8% 3 0:44.99
5 50m B8 T+=E A TV IV PR 8% 2 04522
B 50m B B =D Y R3SIL PR 8% 3 0:48.09
2 50m B mE # vV R3SV FIR T 2 04432
Lo 50m B BA B Y R3IL PR 8% 3 0:38.71
5 50m B8 INGR B3 TV RIIL PR 8% 3 04278
Lo 50m B BHTET Y R3S PR T 2 04297
z 50m B8 R8)8k TV ERIIL PR Ok 4 03798
B 50m B hx =E Y R3SIL PR 8% 3 03667
z 50m BB aHF BR TV RIIL PR Ok 3 0:36.11
Loy 50m B mlll sk 'Y RISIL PR O% 3 0:40.21
% 50m Ba8F e 18 TV RIIL FPIR 10m% 4 03543
B 50m B s B 'Y RISIL PR O% 4 0:3543
3] 50m BB W EBEXx TV RIIL FIR Ok 4 03513
B 50m B STNFIARR 'Y RISIL PR Oi% 3 0:36.19
z 50m BB g InE TV RIIL FPIR 10i% 5 035.73
B 50m B RE 2B 'Y RISIL PR 10#% 5 0:34.51
% 50m Ba8fF fdE 2K TV RIIL FPIR 11 5 03558
B 50m B ZF BA 'Y RISIL PR 115% 5 0:35.08
3] 50m N9ISA W EX TV RIIL FPIR 12i% 6 03144
B 50m B hx B8 Y F3SIL PR 118% 5 0:32.25
&8 |200m BAXRUL— STRFRARR TV RIIL PR O 3 319.76
Z  |200m BAXRL— BA BN vV RIIL PR 8% 3 32818
Z  |200m fBAXRL-— sk 'Y R3IL PR % 3 32553
£ |200m BAXRL— =W EXx v RIIL PR Ok 4 31734
Z  |[200m BAXRL— E8)IBiK Y L3S PR O 4 3:19.65
Z  |200m BAXRL— 6HF BR v RIIL PR Ok 3 3:09.08
&8 |200m BAXRUL— Il K LY ERIIL PR 11% 5 30907
£ |200m BAXRL— METE N 1] Y RIIL PR 10/m% 4 30745
8  |200m BAXRL-— INE =E 'Y R3IL PR 8% 3 30553
£ [200m BAXRL— & BA 2V R3IL FIR 117 5 305672
& |[200m BAXRL— Mg N2 Y R3SIL PR 10m% 5 25752
£ [200m BAXRL— B 28 2V R3IL FIR 105 5 3:01.08
8 |200m BAXRL-— s B Y R3IL PR O 4 30953
Loy 50m ERE PEXFITE tYRISIL PR O )] 10714
Loy 50m ERE RIBCCA Y R3SIL PR Ti% 2 05513
4 50m &ikE SBLDH Y RIIL PR Ok 1 11218
=S 50m EXE mE  # Y R3IL PR T 2 0:54.03
B 50m ERE 3,7 N = tYRISIL PR T 1 0:55.03




) 50m EkE ht+E W Y L3I PR 8k 2 05537
Loy 50m EkE INFE - #E5RE Y k3L PR Tk 2 04833
L4 50m EkE EHTFET Y L3I PR Tk 2 0:50.73
5 50m HEkE INGR B3 Y RIIL PR 8% 3 05215
L4 50m k& & IMZE TV RIIL PR 8% 3 053.61
5 50m #ExE =l B Y RIIL PR O 4 04305
) 50m EkE S EX Y 3L PR 128% 6 0:33.89
3] 50m EkE & BA Y RIIL PR 11 5 04163
5 50m k& STRFAARR TV RIIL FIR Ok 3 04298
g 50m NFISA RIS Z 2V R3IL FiR 6% 1 05987
L4 50m NFIS5A BIACC3 Y L3I PR Ti% 2 05987
3 50m N&IS5A B BN Y R3IL FIR T 1 1:08.08
=) 50m INFIS5A NI &M Y L3I PR Ti% 2 05592
B 50m N&FIS5A Bm =% 'Y R3IL PR 87% 3 1:02.61
z 50m N9TS54 UL N S TV FIIL FPIR T 2 05529
o4 50m N&IS5A RATEF Y R3SV FIR T 2 051.06
5 50m N9TS54 =Wl BEXx TV RIIL FPIR O 4 04054
3 50m N&IS5A INE {BYY Y R3SV FIR 8% 3 04728
5 50m N9TS54 a7 N = TV FIIL PR T 1 049.79
z 50m N9 R8)8ik TV RIIL PR Ok 4 0:38.71
) 50m INFDIS5A IN% 8 Y k3L PR 115% 5 0:35.24
3 50m N&ITSA e 18 TV RIIL FIR 10m% 4 03863
) 50m NFIS5A IhNx BE Y 3L PR 8k 3 04053
o4 50m TKE hEFFITE LY 3L PR 6% #h K18

5 50m EHRE NI =R LY E3IL PR Tk 2 1.06.64
o4 50m TKE SBLBDH LY 3L PR 6% 1 K18

Z 50m EHRE BRUS 2 Y EIIL PR Ok 1 1:02.01
3] 50m WHE T+=E A TV RIIL FPIR 8% 2 05738
Z 50m EHRE & IMGE LY E3IL PR 8% 3 1:0042
3] 50m WHE 58 B8 TV RIIL FIR Tk 1 1.08.38
g 50m EE mE Y L3I PR Ti% 2 05840
z 50m WHE Bl Bk TV ERIIL PR O 3 Ob51.74
o 50m EE BEx 2 Y L3I PR 8% 3 05353
2 50m TFEkE B =% vV R3SV PR 8% 3 1:04.78
g 50m EE RE R Y 3L PR 107/% 5 04225
Loy 50m RE Mg InE Y R3S PR 107m% 5 04249
5 50m FxE i =57 LY RIIL PR 11 5 04274
Loy 50m RE BH 8BR Y R3S PR Ok 3 04693
g 100m BB S EX Y 3L PR 127% 6 1.08.91
3] 100m BfF INE B2 LY ERIIL PR 11 5 1:11.68
z | axtoommn- | SEELUESSE | BYRSL PR cS 4:02.89
g | ax100mir p-yp- | BUERWESSS | by 1 5)) Sz cs 4:30.29
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